DK Dpksoss

DK pksizs

11 oW n (wra Ma SN0 I

A

‘Resa lutlon i -
0.5um 5mm

* DKBOSSAR/DKBOSSA RS/DKB0 5SBR/DKBOSSBRS

DKAOSSARDKA0SSARS DKBOSSAFR/DKBO0SSAFRS
DKB05SBR/DKBISSBRS DKBOSSEFR/DKBOSSBFRS
; 828 ; a8
223 n 4
| —
|
JE |
it 2l
* Upon Instaliation. clamg e At
DKB05SALR/DKBOSSALRS DKBOSS AFLR/DKB0SSAFLRS
DKB0SSELR/DKBOSSBLRS DKBOSSBFLR/DKBOSSBFLRS
i ;-] B27
223 n 3.6 %3 BE
53 B7 4
dE i I
Bl | @ ] i
Mol 2 o
* Lpon Rstalition, g he st | ®l B
L] a
MB0ES cezs LT L2 Unit: e
T30
MG20-DK
MGaT42
Specifications
High-resoluiion modals Ganamlpupase msdhtion modals
Model DHBOSSALAS
RS
Measuring mnge 5 mm
Madmum resoliton Q1 ym | 0.5 pm
Accuracy (a 20°CE°F) 1 pm | 1.5 ym
Upward 0356025 N
Measuring foroe (al 2°C/BEF) Horzontak 0.4020.25 N
Downward: 045025 N
Madmum response spead 80 ménin 42ménin 250 mémin 100 mimin
Rafamnce part Posifon at spnde movemart of 1mm
Refamnca-pont response speed Sama as the nated madmum response spead
Cutput ferance point  Voltage-diterental line diver o ElA422)
Spinda driva system Spring push  Vacuum suction [DKB05SALR/SAFLA/S BLR/SBFLA/SAL RSS AFLAS/SBLAS/SEFLAS)
Humbar of cydas sted” 80 million
= Sright medel: 1P8A, righ 1PB4 (IPET™)
Miraton msistance 20102000 Hz 100 mis*
Impact resistance 1000mis* 11 ms
Cperging lempamtum 0t 50°C
Starage temperaire =20 10 80 °C
Powar supply 5 VDC15%
Powar consumgiion 1w
Mass™ Agprax. 3 g
Output cabie engh 24m
Faalar Cartide bal §p. Mouning screw M2 .5 | Stedl bal Ip. Mouning screw M2.5
[re—— Inguction Manual +P M4 x 5screw (2pc), tightening nut, clamp sparner, wave washer, mounting pin 1 each (DKB*SF™ only)
Hosa albow 1 pe (DKE™ 5L only), ona spannar
*1 Under oL
3 Wher &4 mm bs oht-angis modsi * i b

Resaution i -
0.5pm 2mm

* DK 81 28AR/DKE125 ARS/DKE1 23BR/DKE1 2538BRS5

A —

DK812SAFR/DKB125AFRS 1087
DKB125ARDKE125ARS DK8125BFR/DKB125BFRS 46.8
DK8125BR/DKB12SBRS |58
108.7 8 57
33 185 ] .
|| q FE—
T of @
L I — " d 5l
4 )
2 a 458 T 5 b
bl DK812SAFLR/DK812SAFLRS s 1
DK812SALR/DKA128ALRS DK812SBFLR/DK812SBFLRS 0|
DK812SBLR/DKA125BLRS o |
Hy = =
1095 v/ oAl % =
<] 185 393 ol _ ] -
3| & Tl:.:knass:-uzmm gl
L 1 Bl - % 7%3;3/
'H i i I =
o 3 Cablelengh 03m 1] 101 [ =
d Cabie length 2m =
* Upion nstallation, clame) i stem
DK8125AVR/DKB12SAVRS | 194
DK8125BVR/DKA125BVRS 1067 =
OeE1 28 CE28 LYT1LYT2 {anma‘t Dum mudd} 203 19.5 419
ol ]
MG20-DK o =
g'l []
Maat a2 *Uipon Instalation. clamg the sbem. Unit:mm
Specifications =
High-resoluion models Ganamlpupase msdtion modals
Madal DKS126AR, DKB128ALA DHS1258A, K81 25E8LA DHS125ARS,. DKE128ALAS DK 81 258R5, DK 81 258LAS
. . DKB12SAFLAS D@1 25BFAS, DKE1 25BFLAS
DKA1ZSAVA DKE1258VA K81 254 VA5 DKB12SBVAS
Maasurng range 12mm
Madmum resalition a1 ym | 0.5 pm >
Accumcy (e 20°CHIF) 1 pm | 1.5 pm
Upward: 04203 N 08205 N Prounaic push ypa)
Maasuring torca jat 20°C/BE°F) Horizonta 0.5¢0.3N 0.720.5 N (Praumatic push typa)
DCowrward: 0 6203 N 08205 N Proumatic push typa)
Maimum response spead & ménn 42minin 250 mimin | 100 mimin
Refarance paint Posifon at spinde movermant of 1mm
Fefamnce-point respanse spaed Sama a5 tha noted madmum response spead
Cuiput poimt_ Voitage-diterential line driver oulp o ElA-422)
Spinde drive system Spring push { Vacwum 125AL A/SA FLA/SBLASBFLA/S AL RS /S AFLAS SBLASSBFLAS)
Nurnber of srokes 80 million
o Siraight modsl: P88, right 1PB4 (IPET7)
‘ibration mslstance 2002000 He 100 mis*
Impact resistance 1000mis* 11 ms
Cperging lemparmaiume 0% 50°C
Storage tempamire —20 0 80 "G
Powar supply 5 VDC15%
Pawar consumption 1w
Mass™ Apprax. 30 g
Cutput cable engh 24m
Faalar Cartide bal §p. Mouning screw M2 5 | Stedl bal Ip. Mouning screw M2.5
[re—— Instucion Manual +P M4 » § screw (2pc), tightaning nut. clamp sparner, wave washar, mouning pin 1 each (DKB"5'F* anly)
Hose albow 1 pe (DKE™S'L* only). one spannar
- 0, Ll Pusumatic 2
3 Whan ¢4 mm ubels ght- angls 5
13



DK Dpksaos

DK DK10/25

11 oW n (wra Ma SN0 I

A

* DKB3OSR
-  —
DKAOPLRS
% Cable ength 2 5m
Cable lengh 2 4m 11.5)
[ER AN "
12 o al |2 3| —
o= s == A
Si[ N'I g 1
bt W | 213 L A
EEN 8.9 215 i 5 i
1224 =t
2 & éej =
- =
* Uipon instaltation, clamp the stem. 3 tn
* Upon natallation, climp he atem. I —
bl
*Upon instalstion, damp thestem. 12,3
Cable lengh 0.3m Cabile lengh 2m DKB830SVR —
. [=]
Upan s i, iy B sem DK25NR5/PRS DK25NLRS/PLRS =
dle " Cable ength 2.5m 160
g § 8 |“T'| 1215
8|2 & : 12, j285] 952 263
| | | 238 4
L =
12] 85| . 1414 215 | =
102 ; A= 22, 5 =
1788 § g gl
* Lipon Installation, clamp the stem. ;
* Upon installaticn. clamg e stem. Unit:mm 123 Cable length 2 5m =
kot intalaticn. i th stam Unit:
DHEIOS: cesm LYT1LYTR ox1025 cezm LFTILYTR
=
LTao LTao L)
MOR0=DK MOR0=DK
MG41,42 MG 42
=
=
Specifications Specifications
i Sraight model | Right anga model | e i Standard model | Frodal Standerd model | Prosected ype model | Standam medel | el
DKEICERA | DKEELA | DKEIGEVA DKIONRS | DK10PRS DKIOPLRS DKISNRS |  DK25PRS | DKESNLRS | DK25PLRS
Maasuring mnga 3amm Maasuring mnga 10 mm 25 mm =
Mapdmum resolfion 0.1 pm (05 wm rsolufion can also ba selectable as special spackications) Madmum resaliion 0.5 um
Accurmcy (8 20°CHA°F) 13pm 1.7 um Accurmcy (8 20°CHA°F) 2 pm
Upward: 0.540.35N Upward: 0540.35 N Upward: 034025 N Upward: 0.4:03 N Upward 0.4:03 N
Measuring force (a1 20°C/6TF) Honzoneal: 0 G20.35 N Horzortat 0.82035N Measuring force (8l 20°G/68°F) | Horzontal: 06803 N 49N orless Hedzontal: 0.740 35N 49Noriess Hozontal: 0.720.35 N 49N orless
Cowrward: 0.7: 038N Downward 0.7:038N Downward: 0.8:035 M Dowrward: 1204 N Dowrward: 1a0.4 N
Madimurm response spead ) minin Maimum respons e spead 250 mimin
Refarence paint mevarnant of 1mem Refarence paint Posiion at spinde movernant of 1 mm
Refarance-pont response spaed Same as the noted madmum response spead Refarance-pont response spaed Same as the noted madmum response spead
Qugut ABjmtamnce poin  Voltage-differantial line driver output {conforming o ElA-422) Qugut AfB/mtarance point  Voltage-ditferental line driver output {conforming o EIA-422)
Spinde drive system Spring push Preunatic push Spinde drive system Spring push
‘Achieved number of stokes™ 80 million | 30million ! P50 1Pe4 I P50 [ [ | P50 [ 1Pa4
5 P53 [ IPSMPET \ibraton msistance 1002000 He 150 mis?
Mibraton meistance 2002000 He 100 mis® Impact resistance 1500mis® 11 ms
Inpact resistance 1000mis® 11 ma Operaing temparatums 0t 50°C
Op il 0°CrslC Starage empamiore =20 1 80 °C
Storage tempamire =20 "Clo80"C Powar supply 5VDC5%
Powar sppy 5VDCi5% Pawar 1w
Pawer consumption 1w Mass™ Appmx 230 g Approx. 300 g
Mass™ Agprax T0 g [ Appox 80 g Cutput cabie Bngh 24m
Cutput cable lengh 24m Fealar Carbide bal tp. Mounting scrw M25
Faalar Carbide bal tip. Mourting scrw M2.5 Acchssaorias Instrucion Manual, +F M x 5§ scraw (2pc)
Asoassonies strucion Manual, +P M4 x § scraw 2pc)
o, L 2

*3 Whan the bellows st jopticnal accumcy) b mounted 4 Exduding cable section and intsrpolation box




DK DK50/100

DK DK155/205

SHMa

11 oW n (wra M0 I

A

Sroke |
S5mm

* DK1S5PRS

r r r * DKSONRSPRS
[ stem | | Strke
| 920 |5 100mm )
hd ¥
DKSONRS/PRS DK100NRS/PRS
@
I -
a2
30 (21.5)
444
g inALliaticn. dame M s *Upeninstalaticn. damg the sem Unk: mem
DRS00 cEz LY LYT2
LTao
MOER0=DIK
MG 42
Specifications
o Standard madal | Frofaciad lypa madal Standard madal | Prowcted typa modal
DHEONRS. | DHS0PRS DXA0GNRS | DK100PRS
Maasuring mnga 50 mm 100 mm
Maximurn resolifion 0.5 pm
Accuracy (st 20°C/88"F) 2m 4 ym
Upward: — Upward: —
Maasuring forca jat 20°C/88'F) Horizontal: 089204 M B.2 Norless Horizontal: 192085 N S3N orless
Dowrward: 1.3405 N Downward: 2720.55 N
Maximum responss spead 250 mimin
Refamnca pant Posifon at spnda movemant of 1 mm
Refamncs-pont respanse spaed Sama as the noted madmum respanse spead
Cuput ABmferance point  Valtage-differental line diver cutput (conforming o EIA-422)
Spinde drive system Spring push
3 P50 1P T w50 [ P

‘ibration msistance

1002000 He 150 mis®

3 I
s L i
DK155PRS
419~574
408 21.5)
a7 @
1 (21 i
g[ 4 | T bt S
.3] [ L1 + =
o) E < L)
§]ﬂ E
* Upon natalistion, clamp the atem
[=]
=
DK205PRS
519 ta 724
509 [215)
F e E g
Fjan | T 5
ailk 31 [l IC]| *
o) o
il 3
a bl
* Upon natalistion, clamp the atem Unit: =
DK 155208 cErm LYT1LLY T2
=
o
L1ao
MO20-DK
MGAT 42 o
Specifications
Mokl DK15PRS | DHEPRS
Maasuring mnge 185 mm [ 205 men =
Maimum resaluion 0.5um
Accumcy (a 20°CHEIF) 5 ym [ apm
Madmum responss spead 250mimin
Rafamnce part Posifon at spnde movemarnt of § mm
Rafamncs-point respanse spaed Sama as the noted madmum respanse spead
Quput ABVmlerence poirt  Vatage-difterental line diver autpu o ElA422)
Spinda driva systam Hona
Protecion grada™ Pss
‘ibrafion msistance 1002000 He 150 mis?
Impact resistance 1500mi 1 me
0 g Ol 50°C
Storage mpamire =20 10 80°C
Pawar spply 5VDC45%
Pawer 1w
Mass™ Approc 1100 g [ Approx 1300 g
Ouiput cabia engh 24m
Surface to be measured Soft magnatc maaral
etically atachabie fasler Magnetic sfmction: 10N, harizantal sip: 2.7 M. Provided with a g4 rm caride ball ip
Spnda® 8 mm, mdal swing: 0.04 mm max.
Accassaries Insrucion Manual, +F M4 x § scraw (2pc)

Impac resistance 1500mis 11 ms

Cpersing 010 50°C

Sworage tempamire —20 0 80 "C

Pawar supply 5VDC25%

Pawer consumplion 1W

Mass™ Approx 380 g [ Approx. B30
Cuiput cabia lengh 24m

Faaler Carbide bal tp, Mouriing scmw M25

Asoassories nstruction Manual, +P M4 x 5 screw 2pc)

*1 Excliding e inberpoiation o and connedior

°3 The spindle welghs about 400 g.





